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1. What is the probable relationship between the two speakers?
A. Boyfriend and girlfriend. B. Father and daughter.
C. Guide and tourist.
2. What are the two speakers talking about?
A. The danger in the sea. B. The colours of the fish.
C. The protection for the fish.
3. What does the woman mean?
A. She is too busy to do anything else.
B. She wants to know about computers.
C. She is unwilling to talk with the man.
4. What caused Mr. Black to knock down the girl?
A. She was careless. B. He was careless.
C. He was drunk.
5. When are Betty and Mike getting married?
A. May. B. June. C. July.

oW (IS5 MEENE L5 5,ES22.59)

WTFES BxiESsa., SEMERRaREa LA /NE, AERAMEHN AB.C ZM Tk HRE
E R ERSNENEE. FERXMEXAMAN, AEEHERRENNNE, G/ E S B, TRE, &
MNER AT 5 WA EERE, SEMENMARTE.

WrsE 6 BaE, EEH 6~8 Bl
fi. What is the Red Apple?

A. It’s a Beer Bar. B. It’s a meeting room.
C. It’s a dummy (E ) space.

7. How many Chinese places has the American been to?

A. Three B. Four
C. Five
&. What is the American’s QQ number?
A. 52884736 B. 52874836

C. 58824763 i
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Y. What did the man think of the film?
A. It’s very good. B. It’s very bad.
C. It"s neither good nor bad.
10, Where did the couple in the film live?
A. They lived in their own house. B. They lived with the husband s parents.
C. They lived with the wife's parents.
11. What happened to the couple in the film in the end?
A. They bought a house of their own.
B. They continucd to live with the husband's parents.
C. They continued to live with the wife's parents.
"WESEME EESE 1214 8,

12, What color are the trousers the woman wants to buy?

A. Pink. B. Black. C. Brown.
13. What scason will be when the woman is in Europe?
AL Spring. B. Summer. C. Winter.
14 Which of the following will the woman buy?
ALA white sweater. B. Black trousers.
C. A cotton jacket.
"IHECEMHE EES 51T E,
15, What does Mare look like now?
AL Fatter. B. Thinner. C. Worried.
16, What made Tim become so fat?
A. Eating too much cakes and sweets.
B. Sleeping too much.
C. Lating more fruit and vegetables.
17 What can make Mare fatter according the man?
A. Eating more vegetables and fruit every day.
B. LEating more meat.
C. Moving out of the flat.
"OTE L0 BHA,EESE 18208,
15. What did the store sell”
AL Juice. B. Jewellery.
C. Fruit.
149, What did the storc owner catch a man doing?
AL Stealing a necklace. B. Stealing some fruit.
C. Stealing money.
20. What did the store owner want to do immediately?
A. To call the police. B. To beat the man.

C. To drive the ief out.
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1. What does the woman mean?

A. No one knows how Mary [ound the record player.
B. She doesn’t think the record plaver works.
C. Mary has repaired the record player.
2. What does the woman mean?
A, She wants 1o know what the postage will be,
B. She needs to send a few letters now,
C. She would like to see some new stamps.
3. Where's the man going now?
A. To his own office. B. To the editor’s office.
C. To a restaurant.
4, Where are the two speakers?
A, In their home. B. In a shop. C. At a party.

. What does the woman think of her piano lessons?

(5]

A. They are too cxpensive. B. They are very rewarding.

C. They are too ecasy.

OE_FH (R IS/NEEBNE L S,HBH 22.54) _
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“ TS 6 BATR, EE S 6~7 M. '
6. Why does the woman need 1o borrow money [rom the man?

A. The woman i1s wounded. B. The woman lost her purse,

C. The woman is penniless,
7. What can you conclude {from this story?

A, Pronunciation is very important, B. Nobody wants to lend money.,

C. Bad relationship between the two.



B =iE

« T8 7 BM,EEE 810 M,
8. What is the man doing when this conversation takes place?
A. He's getting his guitar ready for the performance to be given this coming weekend,
B. He's doing his homework for the coming examinations.
C. He's watching a concert over TV,
%. What is the woman worried about for the man?
A, About his failure in the concert.
B. About his future as well as his scores in the coming examinations.
C. About the impression of the man from “Dream Discs” on the man’s performance.
10. Why does the man care so little for a good job as a bank clerk?
A. Because he thinks being happy is much more important than being wealthy,
B. Because he thinks the salary of a bank clerk is too low.
C. Berause he thinks the position of a bank clerk is too low for him.
WS RME, EEE 11138,
11. What does Dave do for a living?
A. He is a geography teacher. B. He is a farmer.
C. He is a tour guide,
12. According to the conversation.,what is Ottawa famous for?
A. Its wheat, B. Its scene. C. Tts large population,
13. In Ottawa. what’s the percent of the population that lives in rural areas?
AL 15, B. 50. C. 65,
- O BHE L EES 17 .,
14. Where does the conversation take place?
A. In Canada, B. In Singapore. C. In America,
15, What”s the woman complaining about?
A. The cold weather. B. The hving condition.
C. The hot weather,
16. What"s the temperature in Canada in summer?
A, From 20 degrees to 29 degrees, B. From 30 degrees to 38 degrees.
C. From 12 degrees to 25 degrees.
17. How does the man {eel about the winter in Canada?
A, Terrible. B. Too cold to bear,
C. He wishes he could experience it.
« WRSE 10 B R, EIESE 1820 @,
18, Where will you probably find this notice?
A, In a department store. B. In a supermarket,
C. In an apartment plaza(]” ).
19, For whom is this notice intended?
AL Internet users worldwide. B. Local community members,
C. Internet service providers,
20, What causes slow connection times and busy signals?

A. Too many people online. B. Peak hours of the day.

. Surfing the web too often.
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L. What does the woman mean?

A. The room was too warm for a sweater.

B. The man would have been late if he hadn’t hurried.

C. The man put his sweater on the wrong way.
2. Why can’t the man go to the west coast?

A, He is looking for a job.

B. He has to train his workers.

C. He is busy with his new job.
3. Why is the worman uninterested in the experiment?

A. She is worried about the effect on the world.

B. She doesn’t believe it will come true.

C. She doesn’t enjoy living too long.
4, What can we know about the woman?

A. She has just bought a mobile phone.

B. She finds it pretty easy to use the mobhile phone.

C. She often forgets to turn on the mobile phone.
5. What will Mr. Peterson do with the old house?

A. He may use it as a restaurant,

B. He may sell it to the owner of a restaurant.

C. He may rent it out for use as a restaurant,

OEITH (5 NVE;ENE 15 5,88 22,5 9)

WTmE s BESmA., SEMESMEARELNNME, AERFLH AB.C SAETbhkHBESR
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- WS 6 MK, EIEE 6~3 &,

6. What's the weather like there?

A. Very hot, B. Very cool. C. Very cold.
7. What did the man do?
A. He took off his shirt, B. He took off his cap.

C. He took off his socks. /

5
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&4, Where's the man now?
A. In Britain. B. In America.
C. In Canada.
TR TERME EEE 11 &,

. What has the woman just done?

A. She has just [inished her cooking study.
B. She has just opened her own restaurant,
C. She has just got a head cook position in a restaurant.
10, Why did she change her mind about cooking?
A. She was interested in cooking French food.
B. She failed in cooking for her family.
C. She wanted to study abroad.
11. How long haven’t the two speakers met with each other?
A, Ahout 3 years. B. About 6 years.
C. About 8 years,
“RESEAR,EEE I 18,
12, Why can the man and his Tanily stay at this hotel?
A. They have a reservation,
B. They are friends of the owner.
C. Someone else canceled a reservation,
13. What is the man especially glad 1o have [or his children?
A. A color TV, B. An extra bedroom.
C. A swimming pool.
14, When does the hotel want its guests to pay?
A. When they register.,
B3, When they reserve a room.
C. Just before their departure.
CIFE O MR, EEE I5~17 H,
15. Why did the woman move from Calgary to Montreal?
A. Because she went to college in Montreal.
B. Because she worked in Montreal.
C. Because her parents moved there when she was a child.
16. Where was the woman born?
A, In Montreal. B. In Calgary
C. In Harbin
17. Which city is the coldest one in the talk?
A. Montreal B. Harbin C. Calgary
» IF S8 10 Bl BIE B 18~20 M,
18. Where was Frost born?
A. In New England. B. In England.
C, On the West Coast.
19, At what age did Frost become well-known as a poet?
A, 13 years old. B. 30 years old. C. 38 years old.
20

. How many times did Frost receive the Pulitzer Prize?
A,

2 times. B. 3 times, C. 4 times,
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1. What would the man prefer?

AL A driving permit. B. A new license. C. An empty road.

[~

. Why does the woman ask the man o point the can of beer away from her?
A. Because she is afraid the can will explode.
B. Because she is afraid the heer will splash on her coat when opened,

C. Because she is afraid the beer in the can is not good cnough to drink,

e

. What does the man think of Jack and Lucy?
A. They are sure to get married,
B. They are friendly.

C. They will part with each other.

. What are they talking about?
A. Family, B. School. C. Friends.

. What does the man say about the bicyele?

A. He used to have one like it,

B. He didn’t think it looked right.

C. He would like to have one,

CEZ (15 ENE 15 4, 225 )

WrFHE S g sme. BEMEXMEAFELANNE, NERFRAE AB.C = AT Rk R i

W HiRER AR E, W 43 8 3HE 3 00 S B, R4S B R I8 IR & 4N, B /NE 5 e RRE, &N
BEEH S e ESeE, SR ESmaERR,

WTE 6 RMEL,EER6~7 @,
6. What is the relationship between the man and the woman?

A. College classmates B. Husbhand and wile

C. Common friends
7. What will the woman do during the National Holiday?

A. To read novels at home B. To go to the beach

C. To climb mountains ’

7
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« WPSE 7 B, EIEE 8~10 M,
8. Where does this conversation most likely take place?
A. In the street. B. At home. C. In the airport,
9. If you travel by CAAC,how much do you need to pay for a single fare?
A. 2 000 pounds. B. 1 000 pounds. C. 1 200 pounds.
10. How long does the flight take by British Airways?
A. 30 hours. B. 13 hours. C. 40 hours.
R SEME, BEE 1113,
11. Which cannot be used to describe the British people?
A. Unwilling to mix up with others.
B. Easy to get along with.
C. Thinking themselves better than others.
12. Which of the following is not the reason for the English character?
A. The special location of Britain.
B. The lower position of society.
C. The distinct development of its history.
13. Why was it once said that the sun never sets on British soil?
A. Because Greenwich Mean Time was always noon.
B. Because the British Empire is in the East and the sun sets in the West.
C. Because the Empire’s colonial rule reached countries all around the world.
- WRSE O BEePE B 1116 B,
14. What do we learn about the singer according to the conversation?
A. He is not very famous for his singing skills,
8. He knows the woman’s parents,
C. He sings to US audience every year.
15. What does the woman think of airline pilots?
A. They are often away from home.
B. They don’t usually remain single,
C. Most of them don’t want to have a {amily.
16. Which country did the woman’s parents come from?
A. Hungary. B. Sweden. C. America.
« PSR 10 BHPH, BIEESE 17~20 M,
17. What did the sailor give his mother as a present?
A. Ships. B. Tea. C. Fish.
18. What did the old woman ask her friends to attend?

A. A concert. B. A dinner party.

e

A tea party.
19. What did the guests eat at the party?
A. Fish, B. Apples. C. Tea-leaves.

20, What did the old woman throw away?

A, Tea-leaves. B. Water. C. Cup.
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WTms R, SRMERH—A/ME, NERFEH A B.C S %Sk HREET, TR
EMHECE. WRESRMEE, BT 10 HHNHERAEFEXMENRETFT—/NE, SBEERIE—
M.

1. What is the probable relationship between the two speakers?
A. Teacher and student, B. Husband and wife,
C. Manager and secretary.
2, What's the relationship between the two speakers?
A. Boss and salesgirl. B. Teact - znd student.
C. Professor and his assistant.
3. How does the woman know the man watched a basketball match?
A. She was told by someone.
B. She saw the man watching i1.
C. She just makes the guess according 10 the man’s interest.

4. What is the man?

A. A customer. B. A businessman,
C. A clerk.

5. How does John feel?
A. Better. B. Sick. C. Fine.

FEoBHFE IS /E;BNE .5 8,89 22.54%)
WrFmE S B iENMA. SR ERHAEENLN/NE, AEhFSE AB.C A% d ik H 8 4%
B ARERENANECR. TERMELRAN, AREEAAEESNE, §0E 5 B8, FRE, &/
ARG DemESHE., SREMENMEIEHS,
WreE 6 Bate, EEse 6~8 M,
6. Who asked the woman many questions last night?
A, The policemen B. English lovers
C. The judge
7. Which food does the woman like most?
A. Hotspot B. Seafood C. Hamburger
8. What did the man do last night?
A. He went to English corner with the woman.
B. He had dinner with his parents,
C. He had dinner with his girlfriend.

b VR PR S TR CTRONION R G- lﬂ-’~
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4. What s the relationship between the two speakers?
A. Husband and wife.
B. Tourist and guide,
. Professor and student,
10. Where will the woman arrive lirst?
A, Miami. B. Chicago. C. Sab Lake Chv,
11. How will the woman go to Orlando?
A. By train. B By air. C. By car,
SIFE S EME, EEE 1211 8,
12, What was wrong with the man?
A. He was sulfering from a heart trouble because of the sudden earthguake,
B. He was oo alraid to run out of the house.

. He was lm\'ing a terrible flu.

3. What happened 10 the man during the flirst earthquake?
A. The man wasn't woken up by the first carthquake,
13 The first earthquake did wake him up but he didn’t realize what was happening,
. The first carthquake woke up the man but he didn”t want 1o leave his housc,
11, What was the man doing when the seeond carthquake came?
A, He was sleeping in his bed.
B. He was about to make his tea in the kitchen,
. He was sitting up in his bed,
«FEOEME BEE 15~17 &,
15, What post will the man apply for?
A, A manager. 13, An assistant in marketing.
Co A seller.

16, When will the interview be made?

A, On June the 27ih, B. On July the 27th,
C. On June 28th,

17. Where will the interviewhe?
A. In the meeting room. B. In Room 107.

. On the sceond floor.

« RS 10 BRAH L, BIESE 18~20

14. Why has the speaker been looked down upon for a long time?

-]

A. He s hearing-disabled.
B, He can't get on well with his classmates,

(. Something is wrong with his brain,

19, What does the speaker want 1o prove?
A, He's non-disabled person.
B. He's better at studies and sports than any other student.
C. He s not diflerent from the average teenager.
20, What makes him a strong person?
A. His physical limitation and his courage,

B. His hard training in studies and sports,

¢, His family and school background.
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1. What does the man like?

A. Yellow sand. B Calm water, . A stormy occan.
2. What does the woman's [ather think of her car?

AL Tt is too expensive, B. Tt"s too noisy. CoIt's good.
3. Where does this conversation take place?

AL At an airpont B. In a factory. C. In a classroom.
4. What has caused the reduction in the numbers of the fish?

A, Overfishing, B. Water pollution. C. Natural disasters,
5. What will happen in {ifteen minutes?

A. The man will be ready [or take-off.

B. The man will be ready to hoard.

C. The man will arrive in Colorado.

CEIF(HIMEENE LS ES 225 8)

WTRES B ENME, SRMEHRABENLNNME, MEHFLH AB.C EMET ik BER
B, ARERENARGCE., WERMESMAN, KEEREMEE N NE, S8 5 B, RRE, &/
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« T 6 MK BIEE 6~ M,
6. What is the man?

A. A policeman, B. A conductor, C. A salesman,
7. Where is the woman’s home?

A. In London. B. In Boston. C. In Washington,
8. Why does the man think the woman can not take the train home?

A. Because the train is too heavy,

B. Because the train is not hers.

C. Becausce he wants to play a joke,

W TR BER -1 &,
9. How did they get the tickets?

A. They bought them. B. Others sent them to the man.

(. Not mentioned, /

o
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10. Where are the office instruments?
A. On the ground [loor, Hall 2.
B. On the second floor. Hall 2,
C. On the first floor, Hall 1.

11. Why wasn’t the man satisfied with the company?
A. They delayed sending computers,
B. The alter-sale service was bad.
C. They didn’t sell spare parts,
IS 8 BATRL EIES 12~ 14 #,

12, What's the man’s daily routine?
A, Fishing. B. Driving a motorcycle.
., Diriving a car,

13. How did he go fishing in the past?

A. By car. B. By motorcycle. C. By bike,
14. When did he buy a car? )
A, last year. B. Last week. C. Last month,
WS o BMEL EIEE 1517 M,
15, When does the man go swimming now 7
A. On Thursday. B, On Wednesday, C. On Saturday.
16. Where did the woman see the man last Sunday?
A. At the park. B, On the playground. C. At the party,
17. What does the man like 1o do every Saturday night?
A. To go dancing.
B. To go out with his friends.
C. To work at the office.
T L0 MR EES 1820 M.
18. Who carried out the experiment on the platform and trains?
A. Prufe:-::aorf-z. B. Reporters, C. Students.

19. How could the incidents be described?
A, They were painful.
BB. They were about adventure.
(. They looked real,
20, What did 40 people do when the cars were robbed?
A. They sat there, doing nothing.
B. They wanted 1o help robbers.

C. They stopped the robbers,



